Four Crescents

The diagram shows I NOT tescale
a circle, four semi- N
circular arcs and a \\ ™~
rectangle (with / //
dimensions given). N
(1++10) h
| 3 (~1+V10)
Q 3 /
What is the total ,_
area of the four O\ )/
shaded crescents? ,,,,/ >~ /
sic g o
Four Crescents
The diagram shows I NOT o scale
a circle, four semi- AN
circular arcs and a [ ~\
rectangle (with 4 //
dimensions given). '\
(1++v17) \
| 4 (-1 ++17)
\ 4 /
What is the total
area of the four O\ /)
shaded crescents? / N \ /
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The diagram shows
a circle, four semi-
circular arcs and a
rectangle (with
dimensions given).

What is the total
area of the four
shaded crescents?
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Four Crescents

The diagram shows I N oiscale
a circle, four semi- N
circular arcs and a \\ T
rectangle (with 174 //
dimensions given). \
(2 +/53) N\
| 7 (-2 ++/53)
AN 7 /
What is the total ,_
area of the four O\ )/
shaded crescents? N /
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Four Crescents
The diagram shows I NQToiscale
a circle, four semi- A
circular arcs and a /. ~\
rectangle (with 14 //
dimensions given). '\
(2 +29) N\
| 5 (-2 ++29)
\ 5 /
What is the total
area of the four W\ )/
shaded crescents? / ~_ \ /
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Four Crescents

The diagram shows
a circle, four semi-
circular arcs and a
rectangle (with
dimensions given).

What is the total
area of the four
shaded crescents?
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The diagram shows
a circle, four semi-
circular arcs and a
rectangle (with
dimensions given).

What is the total
area of the four
shaded crescents?
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Four Crescents

The diagram shows I NOT tescale
a circle, four semi- N
circular arcs and a \\ ™~
rectangle (with / //
dimensions given). N
(3 +/58) N\
| 7 (-3 +/58)
AN 7 /
What is the total ,_
area of the four O\ )/
shaded crescents? ,,,,/ >~ /
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Four Crescents
The diagram shows I NOT o scale
a circle, four semi- AN
circular arcs and a [ ~\
rectangle (with 4 //
dimensions given). '\
(3++34) \
| 3 (-3 +3%)
\ 5 /
What is the total
area of the four O\ /)
shaded crescents? / N \ /
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Four Crescents

The diagram shows I NOT tescale
a circle, four semi- N
circular arcs and a \\ T
rectangle (with 174 //
dimensions given). N\
[ (3 +v10) /
V| (-3+V10)
AN /
What is the total ,_
area of the four O\ )/
shaded crescents? ,,,,/ >~ /
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Four Crescents
The diagram shows I NOT o scale
a circle, four semi- AN
circular arcs and a [ ~\
rectangle (with 4 //
dimensions given). / '\
(3 +13) \
| 2 (-3 ++13)
Q 2 /
What is the total
area of the four O\ /)
shaded crescents? / N \ /
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Four Crescents

: NOT to scale
The diagram shows o —
a circle, four semi- N,
circular arcs and a \\ /
rectangle (with 4 \
dimensions given).
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What is the total |
area of the four | /)
shaded crescents? ) \\
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: NOT to scale
The diagram shows L
a circle, four semi- YN
circular arcs and a Vo /
rectangle (with L/ \
dimensions given).
4 (5 +v29) /
| 2 (-5 ++v29)
N —z ||
What is the total |
area of the four O\ y
shaded crescents? e \ y
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Four Crescents

The diagram shows I NOT tescale
a circle, four semi- N
circular arcs and a \\ ™~
rectangle (with / //
dimensions given). N
[ (4 +V17) ,, /
Vo (—4+17)
AN /
What is the total ,_
area of the four O\ )/
shaded crescents? ,,,,/ >~ /
sic g o
Four Crescents
The diagram shows I NOT o scale
a circle, four semi- AN
circular arcs and a [ ~\
rectangle (with 4 //
dimensions given). '\
(4 +V41) \
| 5 (-4 + V&1)
\ 5 /
What is the total
area of the four O\ /)
shaded crescents? / N \ /
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